EEJ

' 4%

R—1) VTR

#EHFE 25002 5 A5 0T o 2 B R E

LESEXES

it

EE-IE4

R—1) > 4No

< — kNo
R—y v B-5(CNo. 1L3) REME AR oW ok N4 it &
¥ X % B i ol MEHM| A 264 TH 11R ~ 264 7TH 140 |K ®
- AR 24 =B R 2] 15 " = 7 w-) oy ”
=[] _ 3 TR A = T ¥ S
HEEE A B (17 ree uo1g EERE AN F T 7 WE MB gz WK T 272 mE %
T 7 1807 - B TET FE o NUT— v
m - 0 o8 I p1-8 7 " |
?L *—r =] 7.16m = 90° 270° 90° E‘g ﬁ_} éﬂzoo *?; nit ?E #E ﬁ ?K ;@ e = 5@'?%5 :':‘ E @j = =4
o) it 13.50 T @ H B I o Vv — -K AR L - 7l
£ K e b e s B oo g & | LYYV T # NFD12-K R K v 7 HAMHE Bc-3C M
. N . L p o o S s dso R
T || k| ] e I oW O B R BB R BRI =
- N
o | okl R R AR
2 o | % I s 5 T O T
- | E 5 |t B e N prowme | | |m|E
Rip@ | & | E|] R / M © BE B ~
X % | “ g 0110120 é B B )=
R RAREN &| ¥
- H =y ;
m m gy o = ey | — | A
(m | m) | ) | ()| X | 70 | #|E|E = q |(m]10]20(30/ () 0 " “ o 0o el M (m) | 5| 1&
- — e |E|0.00~0. 0T EIRAIRA, E
F - EM%II‘\; Y c;#;ﬁz % Q(i;\?. 50mENZ ¢ 40mmPL T O
E o1 v = 570 ik . L1 2l 11— | —
i S I IARE S TN il EAr
E 5.51  1.65 1.45 G\ E
- 9 ) AR & 2~10mD K Lz 197N a5l 3339 M—A>NA——""tb—+ b 2.15 =
B RIURH 4 L N ] 30 |9 " e ® [EEH
- Ktk 1 AR L B T ANCIRA T X w3
SENEPITENYE: P2 (K LR 2 TR R TR E, P
3 IR IR, 1 L >\ T | | AL I I PO B
- Donrmm | @ | | BEcKREDT RN, | ] o 5| I @ 55T
- A K| & 2~ 10moD A~ LA D37 S .
= 4 3.0 1.1 O O 'O E:YEIIQJ\O | 4.15 | 8 9|10 ; ——————————— 7—:
F 25946 27 e
- 02070 B | 2~ 30mmeD i~ T ¥ 2 I
E 07070 fir ~ MU w7 AFr MEU DD, s 110l 12! 30
= IR EAEI oo I el 1 ™ s e N s O i
E F0ros BRI KR INTIR E
g Potef B ; 30~ 50m DT FAHE L, 54 \
- 6 690906 7 DI NEIE  T5% oas) 19\ 15116 M) e | [T E
- 056 250 6.600°0°0 . G 04 T e
= 7 Mmigi 715 4] 3| 4 1/1 *********** ]
g o L 30 |11 ®<
2 A 7.45 E
- 8 R sas| 8 |B|17[88 | —1 S =
F o O 38
: i " i ” T *
8 war v | B 18 | 32 50
-9 L K| e | 0| | R~ D, s 1 | E
8 - w5 BRI KIIK AR, : o5 83 E
F . JK ElS ﬁ:ﬁiﬂ: ] 2~5mm K U—H‘@ét ﬂg%ﬁ:
E 10 Y g | W A . ol 12162280 | L 0L b =
g B LW (0, 0nBlk 0 KILRE S < IRA LI : HEam 3
- W e HITHEE > T 5, 03 ° E
o R b
11 Ve 72 TR I e 5 B B e e e e e e B B SRR =
E O 4| 24 |63 — | 12
= o 11.39 E
- 12 s bsl13|5|8| e | — 1 L L] E
F v ] 50 |16 e -
B 574 6.30 12.9047. 1245 ) // :
- 13 i - R i s 12|28 ) T | [~~~ 7
2 =634 0.60 13.50-———| ¥V b g » ﬂg?gﬁ?wﬂﬁtﬁ{t%%b@‘ﬁ) — 30 (5] o] |71




